HYDRAULIC SWING CLAMPS | HE#E&AIIZRS

CHA

R AL

CHA HYDRAULIC

SWING CLAMP

EmFIE
IRIIEREHHRAENRT, RS
MEZ, ReTEMRE. ERFATE
FfprEEsRst RS T hENEH T BIRT S
B,

EmdERiTEasilEel, 8RTS
[D/NES

BRAIRIEEES: 70 kgf/cm’
/MRS 15 kgf/cm?
TEEhS=L: 183

TEEIR

EERTC rE
BERRIROAR, HERPIE,
TEFTH, RDEAATEN,

:TES1E7Ri% ORDERING INDICATION
%:f6: CHA-040SL-90GM

CHA Z7% Series
040 FRERS

Body size
S R, Clamping arm type
L ##fg75MmSwing direction
EEAE
20 Swing angle
piskae
G Type

RS SH (1EE)

M M: SRl Ee iR e Y
N: ZEEGlEs e EEa
XD : EHER

047 | &M E & R 5

FEATURES

= EE Sectional view

The accessories of the CHA series are optimally B (35 R
designed to create a more compact-sized product é;;ggg?”
with enhanced strength. With its special dust-proof

design, this product has improved its sealing
performance and protects against any particles or
debris while in use. The product's structure design
has a high torsion resistance that achieves

maximum durability. SRImTK

=1EEN
Max. operating pressure : 70 kgf/cm?
Min. operating pressure : 15 kgf/cm?

Double acting

NOTE

The action and the speed of clamping / unclamping needs to be slowed dow
n appropriately.

Please refer to Page 4 for installation instructions or removal methods of the
clamping arm. Customization is available upon request, please contact us for
more info.

CHA

036: ®l =36 040: ®l =40 048: @l =48 055: Pl =55
065: @l =65 075: ®I =75 090: ®I =90 105: ®I =105

SEIBRE S: Single side arm
D:E2EE D: Double side arm (51 ERENEEHEE)
L: £ R: A L:Left  RRight
A Standard angle 90°(+2°)
I HEE Order angle 30°(+2°),45°(+2°),60°(+2°)
. Fs— Blank: Line type
fﬁEl EEE'E,F G: Manifold type
G: MR C: Manifold with
C: HEEHRCBIFEIE

flow control

;g\é(igw{ E%AN\FOLDWPE E%ﬁ%ﬁv&TH FLOW CONTROL

Blank: Standard

M: Air sensor manifold option
N: Air sensor piping option
XD: Double end rod option

SINGLE SIDE SWING CLAMP DOUBLE SIDE SWING CLAMP
i1 MERE/A0° IR
J2 Je
S 4-L K
) ’L (c N ’L JZa\
Tfﬂq(‘)/ — rﬂ \ Tf’m@%/ ] = Cﬂ
N ‘® \ N /® \

s RV el - AHM‘—‘
’— :T\wj\\@ | iEEAm " fﬁ‘{\@ I 5
Ford ',/ o 1o

N N\ % s W)
v \mme N
BE] HERT AR ;3 PH

EERJE

A3

s+ - |4 |_

B 7L Clamping port
® HEEHFL Unclamping port

MR 2805 SPECIFICATIONS

WR Coier WETE KGR R
MODEL 1" o g STROKE () SIROKE Gy STROKEm
CHA036 220 55 8 135
CHA-040 2842 65 8 145
CHA-048 4459 75 8 155

CHA-055 721 85 10 18.5
CHA-065 880 10 10 20
CHA-075 1421 12 12 24
CHA-090 1978 14 12 26
CHA-105 2789 16 16 32

Unit:mm
NI'%'::" CHA-036 CHA-040 CHA-048 CHA-055 CHA-065 CHA-075 CHA-090 CHA-105
S}c?:vnl‘rl‘)g 1355.5/8 145:65/8 15.575/8 18585/10 20:10/10 24:12/12 26:14/12  32:16/16
J‘,}ﬁfﬁ*ﬁ% 80 88 965 1095 116 135 148 178
l’,‘,ﬁﬁﬁ 104 115 1285 1455 156 181 203 240
lf:&%ﬁ”;fﬁ% 102 113 1265 1435 156 181 203 238
B 645 715 79 8 94 109 120 144
C 25 25 28 30 31 38 46 56
D1 14 16 19 22 25 31 38 44
D2 22 25 29 33 40 45 54 60
D3 21 24 275 315 385 435 525 585
D4 9 11 12 125 165 19 235 255
E1 M14X1.5 M16X1.5 M20X1.5 M22X15 M27X1.5 M30X1.5 M39X15 M48X1.5
E2 ®6 ® ©8 ®10 ®13 013 16 20
H 7 8 10 12 14 16 22 26
®  ®36 40 P48 O55 D65 D75 DI D105
n 40 45 51 60 70 80 95 110
)2 49 54 61 69 81 92 107 122
)3 29 315 355 39 46 52 595 67
K 0314 o34 o040 o47 oS5 o063 o7/5 o88
L 04.5-075 ©55-09 55-09 ©6.8-011 06.8-011 ®9-014 D11-017.5 D14-020
X5D X6D X6D X7D X7D X9D X11D X14D
M 16 18 22 24 30 32 37 45
N 235 26 30 335 395 45 525 60
Q 15 ©18 ©22 25 30 355 P45 55
Ql 135 ®16 20 23 28 B335 43 ®53
PH M3 M3 M4 M5 M6 M6 M8 M8
REstH0
Pt 2T1/3 2-T1/8 29118 29TV 2PTI 2:9T1/4 29138 2913
8%%;‘(%‘/3@% PS5 P5 P5 PS5 P7 P7 P7T PV
BUEE  ASE SRR O\SEEE CREEeE P
CYLINDER CAPACITY  CYLINDER CAPACITY ~ EFFPISTON AREA  EFFPISTON AREA  RANGE OF USABLE
UNCLAMP(cm) CLAMP(cm) UNCLAMP(m) ~ CLAMP(cm)  TEMPERATURECC) FLUID
6.63 424 491 314  -10~+70°C
9.57 5.89 66 406 -10~+70°C
1576 9.87 1017 637 -10~+70°C jmisous
28.12 19.06 152 103 -10~+70°C 2 #&T@
38.60 2514 1963 1257 -10~+70°C  pome?
72.46 487 3019 203 -10~+70°C ‘sowscosty
11482 7348 4416 2826 -10~+70°C
20350 1275 6350  39.84 -10~+70°C

PNEUMATIC & HYDRAULIC CLAMPS | 048



Unit:mm

i FELICHA-MEIFRHIRE MODEL CHA- CHA- CHA- CHA- CHA- CHA- CHA- CHA-
ITEM 036M 040M 048M 055M 065M 075M 090M 105M
J2 il STISWING 13 cc 0 145658 15575/ 18585/10 201010 241212 261412 3216/16
K /Clamp
| T
o ‘ A15ERRRRE
+{1§2 e RTA Undamping 80 88 965 1095 116 135 148 178
H P // \\\ AR EEu
| 1 o BB ANERIE  q04 195 1285 1455 156 181 203 240
T\ / )g@;ﬁ@ Unclamping
\VVJ \ = /
L#@fv@ L B 645 715 79 89 94 109 120 144
N | ERRS RGeS C 25 25 28 30 31 38 46 56
BjLi
D1 14 16 19 22 25 31 38 44
} _ E1  M14X15 MI16X15 M20X15 M22X15 M27X15 M30X15 M39X15 M48X15
E1l I [
== >l ®36 ®40 D48 D55 P65 D75 D90 D105
ALS7 n 40 45 51 60 70 80 95 110
‘b j \ J2 49 54 61 69 81 92 107 122
) r'—f/hﬁ# )3 29 315 355 39 46 52 595 67
I—”’;Z“”‘ | i i o K 0314 034 o40 o047 oS5 w63 a75 o088
G ; —| <
O-Ring L 1 < L D45-075 O55-09 B55-09 06.8-P11 06.8-011 ®9-d14 O11-017.5 D14-020
EEXE ‘ m X5D X6D X6D X7D X7D X9D X11D X14D
21 M 16 18 22 24 30 32 37 45
‘ N 235 26 30 335 395 45 525 60
|
: | | mammAC Q »15 ©18 ®22 25 O30 P355 P45 P55
. [ e ) H0
= : sERERE 0 Portwith 2-PT1/8 2-PT1/8 2-PT1/8 2-PT1/8 2-PT1/A 2-PT1/4 2-PT3/8 2-PT3/8
= (@ER) Line type
[ " OHE([EG/CR)
ofGpg P> PS5 PS5 PS5 PT  P7T  P7T  P7
MA f8 -0.03 -0.03 -0.03 -0.03 -0.03 -0.03 -0.03 -003
2. oasERY 34'5—0.06 38-0‘06 45-0.06 45-0.06 45-0.06 5?’-0.07 5?’-0407 53»0,07
EI' ﬁ'z‘zﬁB'f}L}]ﬂIRj +0.04 +0.04 +0.04 +0.04 +0.04 +0.04 +0.04 +0.04
MAH8 345 38 45 45 45 537 537 537
p1*3° 0 0 0 0 0 0 0 0
i MB 32 33 385 385 405 49 49 575
. PMAHS < MC 357 392 462 462 462 542 542 542
= +| <
= = \ S MD 494 575 654 734 794 865 895 1065
2 sz \ Lo ME 624 705 789 869 929 106 109 126
! |
o z ; - MF 40 47 53 61 65 74 77 94
7$fﬁ,¥¢4~6 MG 49 6 79 79 99 75 75 75
PMC |
3 — N MH 9 9 9 10 10 10
4
= M) 4 4 45 45 45 95 95 95
MK 65 65 8 8 8 11 11 165
® F&#5#3, Clamping port ML 734 815 914 994 1054 122 125 1475
=il Uncl i t
e MM 11 15 15 15 15 15 15 15

049 | &M E & R 5

$t: FEIUCHA-NESBIRRE

Je B
K 4-L
|
=
- > ;T REY
L =21/ \ RENF

D) L

EETEAERE(LEN80°HER)
J3 FHERYREEEERIE

i
El |
I |
ILE
R | ~
| % \
= [
b
ol [Itm | LH
1374 | @
ORingl [ ‘ <
RERE ‘ P
g1
\
|
\
! TR O]
- PT1/8 (ZR)
e 4 REHERAO
& ‘1‘ PT1/8 (ZR)
\ L #m0
BNA
/AN
\_Jj
| 2-NGigs

@® 3k&$mFL Clamping port
® ME&HFL Unclamping port

MODEL
ITEM

ST:Swing
/Clamp
ATFERRARE

Unclamping

A253ARAE

Unclamping

B

C
D1

E1
0]l
N
J2
J3

K

L

M
N

Q

EEiEn
Port with
Line type

02/ (26/CH)
0-Ring(G/Ctype)

ONA
NB
NC
ND
NE
NF

Unit:mm

CHA- CHA- CHA- CHA- CHA- CHA- CHA- CHA-
036N 040N 048N 055N 065N 075N 090N 105N

13555/8 145:65/8 1557.5/8 18585/10 20:10/10 24:12/12 26:14/12  32:16/16

80 88 965 1095 116 135 148 178
104 115 1285 1455 156 181 203 240

645 715 79 89 94 109 120 144
25 25 28 30 31 38 46 56
14 16 19 22 25 31 38 a4

M14X15 M16X15 M20X1.5 M22X1.5 M27X1.5 M30X1.5 M39X1.5 M48X15

P36 P40 D48 P55 @®65 D75 D0 P105
40 45 51 60 70 80 95 110
49 54 61 69 81 92 107 122
29 315 355 39 46 52 595 67

0314 o34 o040 od47 ob5 063 o075 088

045-075 @55-09 P55-09 96.8-011 ©68-O11 ©9-014 ®11-0175 ©14-020
X5D X6D X6D X7D X7D XD  X11D X14D

16 18 22 24 30 32 37 45
235 26 30 335 395 45 525 60
®15 D18 P22 ®25 @30 D355 P45 D55

2-PT1/8 2-PT1/8 2-PT1/8 2-PT1/8 2-PT1/4 2-PT1/4 2-PT3/8 2-PT3/8

P5 P5 P5 P5 P7 P7 P7 P7
355 395 45 45 45 53 53 53
32 33 385 385 405 49 49 575
9.8 9 11 11 11 13 13 17
117 13 145 145 145 205 205 24
17 19 21 21 21 245 245 245
25 29 29 29 29 38 38 38

NG
(MIBxiFE) M3x05 M3x05 M3x05 M3x05 M3x05 M4x0.7 M4x0.7 M4x0.7

(Nominal
xDepth)

x5 x5 x5 x5 x5 X6 X6 X6

PNEUMATIC & HYDRAULIC CLAMPS | 050



Unit:mm

7t: FEARCHA-GXDBIFRHIARE MODEL CHA- CHA- CHA- CHA- CHA- CHA- CHA- CHA-
ITEM  036XD 040XD 048%D 055%D 065%D 075%D 090%D 105%D

3= 2 e B

BCEEEARAR . % S/Tc:fa":’::l‘og 135558 14565/8 15575/8 18585/10 20:10/10 2412/12 26:14/12 3216/16
‘— \@ R E 1145 128 1415 1585 169 194 216 253

my \ - B 67 745 8 92 97 112 123 147

= e C 25 25 28 30 31 38 46 56
L, I D1 14 16 19 22 25 31 38 44

: (m w 11 12 14 15 16 16 18 19

oD N | mmeamia v 13 15 18 21 24 30 37 43

3 . éﬁ;ﬂ;&%ﬁ ®BB D17 D20 P25 D28 D34 D40 D49 D60

®D D66 D73 ®83 88 D106 D116 D136 B152

' ®DA D8 D12 D14 D14 D14 D18 D18 D18

=[] DB 8 10 10 10 10 10 10 10
o T—U T DE  MAXI0 M6XI5 M8XI8 M8XI8 Mex18 MI0X21 MIOX21 MIOXT

>m | VB DF 6 10 12 12 12 16 16 16
% ‘ E1  MIAX15 MIGXTS5 M20X15 M22X15 M27X15 M30X15 M39X15 MABX1S

pDc 25 3 3 3 3 3 3 3

ODD P25 D29 D36 P36 P43 D50 P65 P8O
o (o] P36 D40 P48 P55 P65 D75 P90 D105
< J1 40 45 51 60 70 80 95 110
J2 49 54 61 69 81 92 107 122
) J3 29 315 355 39 46 52 595 67
K 0314 034 040 047 ©O55 063 075 188
L 045-075 B55-09 055-09 96.8-011 ©6.8-011 09-014 ©11-017.5 ®14-020
X5D X6D Xe6D X7D X7D X9D X11D X14D
T M 16 18 22 24 30 32 37 45
= A | 3 N 235 26 30 335 395 45 52.5 60
DEER Q ®15 P18 P22 D25 G300 P355 D45 P55
@DD Y 5 6 8 8 10 10 14 14
A IctEwF, Clamping port  A-A EEtimn

/ : Portwith  2-PT1/8 2-PT1/8 2-PT1/8 2-PT1/8 2-PT1/4 2-PT1/4 2-PT3/8 2-PT3/8
B &AL Unclamping port Line type

ORE (E6/C B)
0-Ring(G/Ctype) P5 P5 P5 P5 P7 P7 P7 P7

Z(fEF) Q2 a3 a3 a3 c4 5 C6 C6

R 285 SPECIFICATIONS

B forery BAGE ARGE @GR MNSE  RASH SEEDE DASEDR GREE e
MODEL CLAMPING FORCE SWING CLAMPING TOTAL CYLINDER CAPACITY  CYLINDER CAPACITY EFFPISTON AREA  EFFPISTON AREA RANGE OF USABLE
AT 70 kgf/c? (kgf)  STROKE (mm) STROKE (mm) STROKEmm)  UNCLAMP(cm) CLAMP(cm) UNCLAMP(em) ~ CLAMPm)  TEMPERATURE(C) FLUID
CHA-036%D 2478 55 8 135 648 478 48 354 -10~+70°C
CHA-040%D 350 65 8 145 929 725 641 50 -10~470°C iconms
CHA-048%D 4865 7.5 8 155 1427 10.77 9.21 6.95 -10~+70°C ##s0ve32
CHA0S5%D 721 85 10 185 2527 1906 1366 103 -10~+70°C Recommended
CHA-065xD 938 10 10 20 3776 268 1888 134 -10~+70°C Do
CHAO75%D 1421 12 12 24 6634 487 2764 203 -10~+70°C SO
CHA-00XD 2065 14 12 26 11128 767 428 295 -10~+70°C
CHA-105%D 2891 16 16 32 11987 1322 6246 413 -10~+70°C

051 | S HEE RS






